Section 4.8 (p.396) – Solutions #15-18
15. y = -x2 – 4  & y = -8  with instructions to take ‘horizontal strips’… Notice the even function. Note the intersection points are (-2,-8) and (2,-8). Let’s find half of the area from x = 0 to x = -2 and double it. Take a look at the 
[image: image1.wmf]GRAPH

 below. Now use y1 = -x2 + 4 and 

use 
[image: image2.wmf]CALC

. Note that the parabola & the y = -8 line have both been shifted up 8 units.
Horizontal Strips: 
[image: image3.wmf](
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15. [image: image4.png]
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16. Vertical strips would give us:  
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17. Let 
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 and use vertical strips. Intersection points? (0,1) & (1,2)
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18. 
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